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Eighth Ser,ester B.E. Deg.ee Examination, Aug./Sep t.2020
Wireless Gommunication

'l'irne: 3 hrs. 
Max. Marks:l(t0

Note: lrrsrucr F'tvE./ull questiorts, sclccting cttletrst'fwo tltrestiotrsJiorrt euch port.
t,.{RT -.A

I a Descl'ibc li'ith ii neat flow cliagram. lhe ciiftbrent steps inrrclirrecl in AMpS network operali()r-\lcr a rnobilc_orrginated call.b' Explain AMI)s handoff opt'ration Lrsing various conrrol mc'ssilgcs. with rhc, tr",, "!'lrl'rlllsc(lr.triluc !itiu1. 
vvrtrr rrrr 

't', ";,,;'.,;;.,-;

2 a' Explain with neat diagrarq the various irarclwarc clcments used to reaLizea cellular svsicr)r.
b" Expl.i, brref)y the fnnction of lbllowing terrs : 

- " - 
;;t',n-,,;,:';

i) Visit,rr lo6s1lon rcgister
ri) Carcd MS('(GMSC)
iiir Rilling girrcway (BGW)
iv) IMSi.

3a.
b.

c.

lixplarn thc capacity expa.nsion lecltnir-1LLes : ce Il scctoriug ard ee il splitting. (08 N{,r.iis)Wrire lr hrie l'nolc on Lce 's lnicroccil tcuhrrology. 
-o -ri\' !! rr !

Explain the concept of frequency ,.r* i;;;;i.,ro. ,yrt",r. D*ennine trr. n.qr#i;t|i:]]distarrcc lirr. tttobile system of,clustc,. siz.i and ..rl ,.i.rirr'i, ,ill,'0",. rhe same cell r..tlr.r:find rlre clusre r.rize ilthe reusc di:turrua i, ii.il ,r. 
"" "- rr JNrrr' 

(07 \r:rrl,r)

b.
C.

Explain thc architecture of a Bluetooth/wpAN r.vitrr a cliagraur.
Describe briefly the basic wireless MAN.

**>F*>k

,l

I:xplairr CS\l trrtltlc anrj control sigrralburst.
Disor-rss thc riame fomat of GSM, 

-t;"; 
ft";"., supcr 1ir.,re, rnulti-fia're 

"ro 
,"rrt1;TTl

(10 Mar.lis)



Eighth semester B.E. Degree Examiii.ition, Aug./sep t.2020

Di gitat Switching': gr=tem
Time: 3hrs. ,' Max.Marks:l00
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Note: Answer any FIVE full questiorts, selectitrg at least TWO questiorts Jrom each part.
,*..---

;,,'.''.PABT-- A'
a. With a neat block diagratn, explain the National Telecommuniiation Network. (10 Marks)b. Explain various types ofNetwork Structures.
c. what are th. ,tr,,'al.il;ii;i;;n*",rrni.r,ion Sysrem? [:il:ff:immunication System{ i' (04 Marks)- 

i4.,..-.-.,.'

Ji^+-il---ri--- f, " 
ril2 a- . Explain with a neat diagram the distribution frames in stronger switching exchange.

(10 Marks)b' Explain with a neat cliagrarn the Intra rlt'ciiis and incoming calls in Digital SwitchingSYstem, (Io Nlarks)

3 a' Dr'rring abusyhour, 1200 calls were offerecl to a group of trunks ancl 6 calls were lost. The
average call duration was 3 lnin. Find:
(i) Traffic offered
(ii) Traffic carried 

,, ,(iii) Grade of Service
(iv) The total duration of the periods of congestion (t0 Marks)b. Derive an expression for the Erlang's lost califormula from the basic principles. (10 Marks)

4 a. What is Grading? Explain in brief the design of a progressive grading. (08 Marks)b' Obtain the expression for minimum numb". of crosi points 
"for t*I stage network with N

number of incoming tanks and N number of outgoing trunks and also Jraw the two stage
switching network - ,i..-,, (12 l\{arks)

PART - B
5 a' Explain with the help of neatl'diug.ilIilfiLepiio, or r-S-T switching network and timeswitch. (14 Marks)b. Explain the frame alignment of PCM signat'i in oigital exchange. (06 Marks)

6 a. With a neat diagram, explain software linkages during a call. (10 Marks)b. Explain the flow diagram for subscribers features and call forwarding. (10Marks)

7 a. Describe various organizational interfaces of a rypical digital switching system centraloffice. - -'- --o"-' 
(lo Marks)b. Explain briefly the methodology for reporting and correction of field problems in cligital

switching system. (10 Marks)

I a' Explain the basic steps necessary to complete a simple call through a cligital switching
sYstem. (to Marks)b. Explain some common characteristics of Digital Switching System. (10 Marks)

+****
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Eighth semester B.E. Degree Examination, Aug./Sept. zoz0
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'['in-re: 3 hr-s. Max. Miirks:loo
Note: Answer FIVEfull questittns, selecting atleast TWO questions.front eac.lt 1tttt.t.

PART - A

I a" What are the tlve categories of X800 security seliccs ancl explain it. (ll Nlarks)b' Mctttiott thc basic tasks are to bc considcred while dcsigning a particularsecurir_v scrr ir.c.
(0,1 Marks)c, write the fbw examples ofsecuri{ attacks. (05 r}Iarks)

(t B\2 a- Encrypr tlre plaintexr "FRtDAy" using Hill ciphcr- with the kev[ ' :i. Sirow yoLrr

calculrttion and also calculatc rhc correspondrng decryption of the .;i:'".j,',, ;..,,,.,. ;,"
origirrll plaintext.

b. FxPl11i11 t.y g.n.rrrion fbr sinrplified DHS. 
(10 \la.ks)
(06 r\Iarks)c' Mention advantages and disadvantages of cipher Fecdback mode. (04 i\tarks)

3 a, Perfonn encryption and decryption using RSA algonlhm for p:1:q : 11, e: 17; M ,,., g.

b' Explain Diftre - Hellman key exchange between user A and B using elliptic cur-r 
"rt." 

n'otut'

c. whar are the properries of l-Iasrr funcrio,s? [3] J[:[:]
4 a. Wlral ar'.. thc (06 Marks)

? f.ir,rll the two approach to cligLral signalure standard. 
- 

i;; ;;;;;c. [)cscribe thc cominon weakneJsltlrreaiof a Ur..r oigital Signature' Scheme.trtv vvruurvrr vYvo\rlsb5/ L[l(,al ul a r,LrcvL lJlgltAl >lgnarufe Scneme. (05 NIarks)

. PART_ B

a' Mentron the different types of threats, consequences and countenleasures when usrng web.
' (0li \l:rrks)
: Explain thc SSI. 

1..9r,t protocol opcrarion. (06 Nrlrks)c' With the help of the block diagram, explain cardholcler sends purchase request opcratron.
(06 !Iarks)

." _writc llic techniques used fbr learning passwords. (08 Nrarks)b. I)raw tlte architecture for distnbutcd inirusion cletcction and explain it. (12 NIarks)

a. Explain the nature of viruses and phases" (0s lrarks)b. Explai, antivirus approach and its ltrur generatior. (0ti N,rarks)c. what is network wonn and ureution ltw examples. (04 lrarks)

a what are capabilities and limitations of firewall? (10 Nrarks)b' What are the design goals for a firewall and also mention techniques that firewalls useci to



USN

C.

4a,
b

C.

108C843

Tirnc. -l hrs. Mar. Marl<s:100

Note: tltrswer any FIVE.fult questiorts, selecting atleast TWo questions.fronr euch part.

1 a Lrst the general objectives of a GSM PLMN network r,vith respect with respect to services to.l \uhscl.iber.

I l_l_]_L__t_l _l I

Eighth Semester B.E. Degree Examination, Aug./Sep t.2020
GGtr'GSM +1,*

'11ii:i:,,,1

I subsystem entitics. ffi H:il],' l;vrrlrrrn tLo C-ll^.',:-^ //-cf,r:--..- rc. lrxplarn the following GSM interfaces : :;
,:\   : ^ c .^-^

a
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r it A1.,. inrerface [BTS to BSC](ii) A inrerface IBSC to MSCI(ii) A inrerface IBSC to MSC] (08 Marks)

2 zt' c'onsider a GSM system witl-r the following data to show the advantages of adaptive array
fln tcn n as:

Coverage area : 60,000 mile2il;;;:g"idr;e,J,$# F,ilili'.il,'J"#3::i-'d'lh: 
12 5 MHz

fr ;;;'r"-*d,j ffiffi', (2e crBm) T3ffi:ffi1?,i8:i,10 oo,
Reccivc cable / Conn^ector loss [L.] : 2 clB MS antenna gain fG,rl : 0 clBIlcquired S/[ ratio : t2 clB Inlorrnarion ir- ,)f i'lrupr-"
Itcccivcrnoise Iigurc [F] :7 di] propagation prifr-[rr.*inn.,,, y . +onc-rnile path-loss interccpr Ir"] : g0 dBm i-ogn5""ui 6ohg *urgin ;1,,,t1 :'r0 dB
C rrlcLrlatc

, !lt) Number of cells requireil to covei ihe service area. (08 Marks)b llxplain baseband hopping method of implernentation o1'SFH? AIso shor.r. StrI{ for GSMrr irlr .1 diff,erent l'requencie"s
c [)r'a* ncat no* .n,r of froipi,,g algorirhnr in CSM l;:H[:i

charrncl colrrbinatiorrs.
for TCH/H, TCH/F ancl CCH rnultillame.
s ol' location rcgislration.

-j

(i) Minimum receited power'eo power
'able path loss r: "r:",r.
'l^^

Explain the di

ius in miles

[-ist the allowable
Explain TCH mu

Ixplain H ing techn iquc o{- speech.
l-ist anci explain different attributes oispeech coder.
I:.xplain with neat diagram Full rate vocoder.I:.xplain with neat diagram Full rate vocoder.

PART _ B
l.ist all the suppiementary services of GSM. (10 Marks)with ncat diagram of Terminal adaptation ancl prctocol stack and explaip Gror,p 3 i,ax.

,. ..liii::,

(06 Marks)
(08 Marks)
(06 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

1 of 2

(10 Marks)



6a.
b.

C"

7a.

10EC843

List anci erplain security algorithms lbr GSM. (06 i\larks)

Lrrplain wireless authentication requiretnents. (0tl ,\'larks)

With neat diagram, explain token-based registration. (06 \larks)

Use the lbllowing data forDCS-1800 and evaluate the impactof LUs on the radio resource

and clle ulate MSC/VLR translation load.
Dcnsity of MS in the cell = 10,000 Mslkm2
Cell ladius 500 m
Average rnoving velocity of an MS : 10 km/hr
Nunrbcr ofcells/LA : l0
Nurnbe r ol'LAS.MSC/VLR- 5

Nurnber of translations and duration of the translations to MSC/VLR/LU for drllbrcrrl LUs
areaIe

Translation Type No. ofTranslations/LU Duration of Translation
Intra-VLR LU lil:i*; ') 600 ms

Intcr-VLR LU with TMSI -J 4:'.'::"""" 3500 ms

Inter-VLR kU,*vii$r IMSI ;r{il$r6*,:' 4000 ms

Consicler
Casel;r mlstic situation in which generated LUs il a cell are only intra VLI{ I.

tic situation wCase

icler 2 cases:

I ; An optimis
2 : A pessimis

. "i *t'"

.*'

LUs in inter-VlR I-Us.
l{ I.[,s.

(12 llurks)
(0ti \Ia rks)

(04 NIarks)
(06 i\larks)
(10 \larhs)

2 ofZ

+116;1,* *

b.

8a.
b.

Derivc an equation for spectral efficiency of a wireless system"

List the roles of Manager and Agent.
What do you mean by Managed object? Explain.
With neat ciiagram, explain the l'unctionality of NMS and OMC.

ffi
il,,*u
es.,
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3a.
b,

4 a. E,xplain interchannel and intrachannel cross talk. (10 j\rarlis)
b. What are the imporlant types of clispersion mechanislns in optical communication sysrcrn?

Explain lto IIer ks;

:"'''''' PART - B ', '

5 a. With strucrure of STS-ti' u.", .*pliifffiit section overhead and line overhead b1,res irr
SONET. :t i'r: i'

b. Expiain soNErisDrr tayers. 
i 

ll;il,:l.[]
'::'' ' ''" :"

6 a. With a ne at diagram, explain a wavelength routing nresh netrvork. (10 ,\l;rr.ks)
b. Discltss Light path Topology Dqsign (LTD) and routing and wavelength assignment (itWA)

problenr in wDM network design. 110 \r:r ksy

7 a. With a neat diagram, explainthe virtual topology design problem. (10 i\,rrrrks)
b. Explain the functions of network managenlert. 1r0 \rar.ks)

8 a. ,'Explarn the architectuii: of an access network. (10 l,l;rr.r<s)
b. Explain I'tybrid Fib.6r Coax (HFC) approach. And the flber to the curb (FTTC) appr-()rclr.

(10 J\l:rrks)

>F,hr.**

6_-d.'

,E.H.#"=+

tlt,:'" '

with a neat ciiagram, explain rn".u#ffitical fiber transmissiWith a neat ciiagram, explain the evolufion of optical fiber transmission systern. (10 x,'rai-ks)
Expllin .cll'-pltase modulation and cross-phase nrodullrtion using mathematictI exprcssl()ns

": ' (lo i\'l rrks)

Explarn the principle of opelation olErbiurn doped liber timpiifier. (10 i\t,y.r<s)
Explarn rvith I neat diagrcn\ principle oIoperation olpolrrizarion independent isolalor

' .'""]'' 
(Io N'lrrrks)

What u'c rhe rnain considerations in building iarge swrtches? (10 )t:rrlis)
Def-rne rvavelength converter. Explain clifferent techniqLrcs of optolectronic regeneration

(10 \I:rrks)

'l'ime: 3 hrs.

Nnte: Ansn,er any FIVE full questions,
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Eighth semester B.E. Degree nxaminatioi, Aug./sep t.2020

Time: 3 hrs. .',,. 
"' 

"t't" 
,."

,,,,,,,.11 
'':' 

,,'.'|,iYu*' 
Marks:100

Note: Ansnter FrvEfurt questiotrs, sn4ertrnl otleast Tryo nr"rrri.;;;; rnr eacrt part.

,,',. ', ,"' PART - A ' 
,.x ;

1 a' Drar'v a neat diagram of GSM:..6rir"" moclel. Discuss ,hffirry function carried out byeaclr intcrlace.

3 ftlTJHil:,ii::':it1",il;?',J,i- GSM ravers are mapped ro osr ravers [:ffi:fii
,, 

_,j- ' . "''i,:. (04 Marks)
2 a' with 

'crevant 
diagram explain dynamic power contror in GSM.b' what is channel borrowing? why it ir irr"di";#iuin ain"."nt rypes of channel J:t#J,l?

^ falrn]? 
-'J-'*'^' vrrrvrLrrl tJPsb uI 

tnzr,^-r ,

(.1-,9;;-'lurwl 
uulrowlng/ wlly tt ts used? Explain different types of channel uoo"**g

c. consider a GSM system with the following data , (06 Marks)

covcrage area -'-,;;,ooo 
mire2

channet spacing .;;b"ri;;""'
One way sysrem bendrvidrh : l2.5MHz.\_/uc way system Oendrvrdth : l2.5MHz.
Frcquency reuse factor . 4- 

"'
MS output power (w) , soorraw (29dBm)
BS anrcnna gain (Gbs) : 20dB
Rcceir e cable/ connect or loss (L,_) . ,;o

:20d.8,,,

,;.2dBr
:OdB

'-',:,'i 2dB
lrrvrrrroll(Jll Idtg :: . ,,i, ,,. : 271 KbpSRcceivcr noise figure (F) : 7dB
Propagation path loss exponent T : 4
Onc rnile path loss interiept (le) : g0dBm
Log rronnal lading margin 16"; , i0;;

Rcceir e cable/ connecl or loss (L6) , ;;B
i\,lS antcnna gain (G.) ; 0J;
Rcquircd SrI ratio

. I /(tn
Info,nation rate'.,. , '. ,1?9P-. ".*:''*''
,,...: :27lKbps
KCCeI\/Cf norse tiorrre lrF\ . - 'h

i) Minimum receiviid'tLo*o, 'L

ii). Yti"um atldwabl! path loss
iii) ceil ,;;il.#;i"r'o'o'' l,ss ,. ,; 

:

' iv) Nur,ber of ceils required to cover the service area.

iii) Cell radius in'miles
iv) Nurnber of cells req

3 a' Discilss the different kinds of bursts that are used in GSM to carry user and controlin lilrf natiOn 
qr v qJlu rrl l.-tl)rvl rU Caft

b' Explain GSM logical channel structure discussing rrre functionalities of each, l;:#:||:lc' Discrtss the GSM location area and cell arei identificati"; ;;;;; m GSM mobilityntanagc.rnt:nt. 
(06 Nlarks)

4 a whar are rp:.il:"-.tng- merhods? Exprain the speech code artributes.b. What are VOCODERSI Exnlain (isM * 6rll ro+o \/^r.n nnn o .,, .. (09 N'Iarks)
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PART - B.

a. Explain message flow diagram for callrelease byrmobile initiated. (08 Nrarks)
b. With a neat block diagram, explain GSM - GPRS with protocol stack. (019 Nlarks)
c. Discuss tire message flow between MS and BS, listing the primitives:, , ', ' (04 N,Iarks)

a. What are the security algorithms usediti, GSM? Explain them briefly. (08 Nrarks)
b. With neat diagrams, explain the different types of SIM cards used,in GSM. (06 N1arks)
c. With a neat call flow diagram, explain token based unique challenge in GSM. 106 Nlrrks)

:y of wireless system with proper expressions (08 N,Ia

:ived signal strength of a base station receiver with cliagram.

a. Explain the spectral efficiency of wireless system with proper expressions 108 NIar.ks)a. Explain the spectral effici.91rc1l of wireless system with proper expressions
b. Derive an expression for received signal strength of a base station receiver with cliD' rjenve an expresslon I?.Ilejelved slgnal strength ot a L,ase statton recelver with diagran-r.

(06 NIarks)c. What are the moaels uiedln modeling framework for a celluler/pCS network? (06 Nrarks)

1OTE82

layers. (08 \Iarks)
(08 i\Iarks)
(04 N,larks)

a.

b.
What are the
With a neat
Write

layers in M3010t the pefiinent three TMN
explain the NM and interfaces.

on OSI systems
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Eighth semester B.B. Degree Exami'fation, Aug./Sep t.2020
Fuzzy Logib

Timc: 3 hrs. ,,.:.. .:; ..;,.ir. MaX. MafkS:100
Note: Answer any F!V,.,,pfult questions, selecting

. atleast T\I/Q.Quistions from cach pqrl
a,, ,,,, .:. l:::: ,,..

PART _ A

I a. Explain sets as points in hyper-cubes with neat diagram. ' (08 Marks)b" Gircn:

:3 0.21
-T-/r sl

l

o.z 0.4.)_+_!
a <l,l)

fuzzy sets of universe. f,::., 1 I ,2, 3, 4, 5 |

ii) B/A iii) Au B iv) A.

.-.n .

,{i. *;-t:'.F:;-q*-

" L*:1fltr:i:,$ --
4.,_ "*;

=-
.ri.jt'

(10 Marks)

(02 Marks)

(08 NIarks)

(12 Marks)

(05 Marks)

(15 N,Iarks)

,$&,::a;#Si:i
'=;r

te relation matiix'using max-mi

Regions '. fl XZ X3, X4 X5

Xir' '' 0.3 0.2 0.1 0.7 0.4
Xi: 0.6 0.4',,. '.' 0.6 4.2 0.6

.'ii;",.,{13' 0.1 0, 0.3 0.1 0

ii) Support
iii) Boundary
iv) Height.

o. Explain following membership value assignment methods :

ir [nluition
ir) Rank ordcring
iii) Angular fuzzy sets

I of3

i,{i:"tS

aJa.



, ., ,.,'i;,- 10TE836
.:;'

4 a. What is clefuzzification. Obtain defuzzified value for given Fig. Q4(a) using :

ii) Weighted avemge method
iii) Ccnter of sums method. ,, :

,1r\4. 
|,1,,,,,,,=.",

: lidslj.:gr., _an' 
.:a

' .! :?
i:.f,, *+*. 

n&. !r:j,:.::siilib B _68!6--:'.Ei;.- 
:S,

ln{
" E:=::;4

"",stffi-
fi

,., "in".isisitl s.r

*-t*8"
-{l:, '1&

v'' il t\!
I o* I t,r t-z
I
I',,,, Fig.ea(a) (10 Nrarks)t- ^D' Suppose we have integem I to 10 as the elements of two identical but differeirt universes

Vr : Uz : {1,2,. - - - l0} and two fuzzynumbers A and B are defined as :

A =,'approximately ,"={Y.l*Si ' -:'

'lt', 1ltr L ))

.B =,,approximately ,,,= {S * 1* !Z}
obtain "approximately 12". using extension principle on unjverse v: {5, 6,- - - -l g. 2l}

. "- (06 Nlarks)c. Explain DSW al hm. 
. ._.,,..,_ , 

,,i ;.t,,:,. ,., (04 Nlarks).+r' 
i:.. .. j.

PART _ B

a. For given two membership:flinciion :

r\. I0.r 0.9 0.0 IA=1 ---+ 
-+-|l" " rr.'lI  t ,\1 ./l2- I\ I '-L '-5'_) ..

[o r ol"Ll-l- r-1 . I
Iyr y2. y3)

i) Calculate the associatedfuzzy lo[ic relation for the compound proposition "If x is A ,

b"
(14 \Iarks)

(06,\Iarks)

, ':::::::i' ?

then y ir .9 " using classi.@ implication

:: to.l I ollr)r\'=) +- +-f
i xr x2 x:J



6 a. Ixplain with neat figures graphical
rvith crisp input (two)
i) Max-min inference

10T8836

(10 Marks)
(10 Marks)

(10 NIarks)

ii) Intensely small.
b Explain multi-objective decision mgkingprocess. 

.p&:.

{"."*i ir,'

ri
.r&rBr t-

tso"

Explain fuzzyC-mean algorithm . l,rr'''It''

For given equivalence relation R
:

/'
.,"-.;; n _ *, I g:, l;] 3,i ii.{$R: x: | 0.4 0.4 I 0.4 0.4

I, lgl g: 0.4 I 0.s
'"r':r'; ..xr \0.8 0.9 ,,0jS. ;,0.S 1' 

'. .t'.:.:..::- '+

obtain classification of five dara points according to ), - cut levels.

iii) 0.8 ',,, 
t:,..., l''n

ivt 0.5
v) 0.4.

Also draw classification diagram.

''iE
x*x{<*

: ,!'!.1

't:a:=t"

technique of ihference for two cases of fllzzy systems,
ile +i :'

. "::::i. ..:{*r:

3 of3

(10 Marks).

7a.

lr o8 o;'";; o2r5l.Il3ll: + +', *--l[l 2 3 4 sJ

8a.
b.
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Adhoc Wirele==ffi&*o,
$i. *

,?,- STirne: 3 hrs. , n *r,,, J,.L Max. Marks:IooNote: Answer any FrvE fuu questiorr, ,"t"iifu at kast TWo urr"rffi;:Jrom each psrt.part.
a

.2
O

E

a
G
O

o.-

=_.
-.)oil

t7t-

o>
,- '2

")-5t
<c
=-1O-U
---

o
d::

='tLa
oa

a!

,;a.)=
>ij
6 t::c.*

"toaat
9=Ei
'a!

3;
* a.l

a)

a
Z
=
an
=

,.d--

PART _ A
ellular and ar

I a. List six main differences between ceilurar und udho" rri,"t"s*u .ob. Explain the Maior challenoe* in rn,rti-^ --^-^-^:;""- 
" (06 Nlarks)

c' Explain brieflv : i) Oualitv nf se^,i^o " i r;;.,;., . (06 N1arks)

(08 Marks)

2 a. Explain the desigrr goais of a MAC protocor for Adhoc wireress network.b. Explarn soft Reqen;ti'bn Murtipie a.-."* *iirr rd assignment [:ffi:il]c. Explain five - phaie reservation protocol. , .r 
. : 

r suor.ruuv,L' 
/oe rtr^_,-^\

3

4a.

b

C.

b' Exprainwith neat diagram ilurtichannlLuac plrtocol. . ,,. ,, 
(06 N{arks)

c' Explain briefly Receiver- Based Arioroi" p.o;;;].""' [f ffi:ili

(08 Marks)

C.

6a.

b.
C,

1.-

tr'
C.

8 a.

b

C.

List at least 8 characteristlcs of an Icleal Routing protocol for Adhoc wireless Ne1nork.
Bring out the ctassificg"; 

"f -yrlrp oirl:?rg.., Exptain bdefi-y,ary or". 
' 

[3l m:llrxprain wireless rOuting protocor. ulntion it, ;r;;;;;* ,,rq urs*vanrages. (08 r\rarks)

,. PART _ B
llxplain b!1eflV CEDAR protocol *itfrffiGffi network;
Explain optimized link Starc Rouring p;"i;;;; - r'vlrvv'N' 

t08 ]larks)
(06 N{arks)Bring oui'ihe impofiant routing *",ri.r offier aware routing protocors. (06 Ntarks)

fJ,*::?."tflv 
ir:",+g! and design goars"6f'a ffansport rayer prorocol for Adhoc wireress

Explain with a suitable network rhe split - TCp. (08 ]larks)
Explain app]i&tibn controlled transJqrt protocoi. (06 N{arks)

,r:,r:n ir: .., - r - (06 Ma rl<S)

Explain briefly nefwork layer attacks.
Explain the difrerences beiween symrnetric key and Asymmetric key argor.itrr,r. [:H:[]Explain SEAD routing protocol. --"- ''"r

ri (06 l\Iarks)
,..

Llricfly discuss the issues and challenges in QoS for Adhoc wireless netr.r,ork. (08 ivlarks)L.xplain QoS en'abled adhoc o,r-.le,r.,an,j distince 
"..i"; r"rring protocor (06lrarks)l-ist the QoS parameters in adlroc r.r,ireless network. (06 Marks)


